3ccX - (b). (45+57)/63 = 102/63

3. 3oleeT /g UF @iodl. dal Ul drda. e Ubdell 2/g HET Wiedl. a< oJme THOT

P

fhd! U @ledl?
3l - g &Ror 2 o =9

4, GGG RICIER I PE T

(7-4)

o "hs-"hs 3R - ls = °hs

o s a3 e - T g5 = 4

13, 9,

(81-43),

3cdl - (d) RO 89 = 38/89.
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10.

3ccX - (c) dROT (3x4) /13=12/13.

Frellel J[OTRR .
e %l x °f IR - X% 1 4y = Pl
e %5 x %8 ek - 12X9 1 0 gyem Psg =107,
o "h7 x Py 3o - X Ly 7% Ty 2P
Yy s TR

3eR - XV ) s xay = Yag= 18
3 e 37 fanei?

el - 7. Ol @ AuIeReaEd = f5, 7o X 3= 2Ny = 7

N

2/5 afarer 1/4ﬁ’?ﬁ'?

3cd - 8/5. 1/4 T IUMThRETET 4, FEULT (4 x 2) /s = 3/5

TR By SRISY 3ATell? &<aTT YohT SHTedT 3o, X dedrse aX Ydlel &8 aer
3770, 96T TeheT AISAT — sFeFhl STHCT!

o Uit ST

o 37qUITehiT aaTraTeh

o 3YUliehrdl IUMHR

o YUl MR - 3ere<or, g
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